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What you will learn about:
Greatest Common Factor

Find the greatest commgn factor of 54 and 36.
g(..l - .Yy
GCF = DD
6 I = 18

Find the greatest common factor of 48 and 80.

f
L
13—12 > GCF=27222
30 S_- = f’@
Find the greatest co a of 27x3 and 18x*.
] i
Ly S X GCE=>|>xxx
Iyt = 2 X aq>

Find the GCF: 6ab*,8a’bh.
Gu.bu: v5 Yo b b
2zl
quth = r-2\y 4

Find the GCF:
Uy ™= 2
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Factoring using distributive

rty
(@) =ab + ac

abtag =a(b+c)
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How to factor the greatest common factor from a
polynomial

Factor:

GCr=4
4x + 12 H(X_i_})

GLF= 1

12x — 60 IAC)(—SD

GCF=Y
4y* + 24y + 16

Y(y roy
Cf=5

5x% —25x+ 15

5(x1~5‘x+5)

GLF = 8%
8x® — 32x?

Sx"(x-"h
(CE= '5)/}'

3>/3> (2 yz— 5>

6y> — 15y3
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When the leading coefficient
Is negative

GCF Slnu..ldt

be N fj‘s{':\’ c,

Factor:

GCE= 3x

21x3 —9x% + 15x

3 (7~ Ix+)

2005 — 1002 +14r O (F= @K
Ax(1ox-5x n}

8m? — 12m®n + 20mn? GCF= Um
Y m (.1 h'\l- Smn *l"S‘n?")
o Ko
gxyz +6x£y‘5+21y3 G‘(.p-sy
1y (3xk2x *’7?)
~8y — 24 Giep-3
-3ﬁy+5>

' z F 2
—9x? — 24x° GCF" -3
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Factoring by Grouping
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Factor:

5q¢(g+7)—-6(g+7)
(zi-b])(gt—(‘)
G CF =n-Yy

8n(n—4)+5(n—4)

(n-q (sh +s‘)

ﬁy+3>§+(2x+% an)(ylfz)
y@ 12 (13
|@b + 7f)+@a + 55 éﬂ) (BH‘)

b (247) + 8(at1)
(xz +2)€C 5x - @ ( X-5) (mz)
X(y+2) —$(x+z)

2p3 + 5p? (esp+15} 52 )( '9,.
(P‘(zpzj%b(?wﬂ e %

ﬁSxy - 53( sey +E§ (7y-1) (Sx-‘@
5)((‘?\/—1) ~ ?(‘7\/' J)
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Factoringwhena =1

x4+ bx+c

Write the factors as two
binomials with the first terms x|

=  Jx )
Find two number m and n that
Multiplytoc,m'n =c¢
Addtobm+n=2=b

Use m and n as the last terms of
the factors.
(x+m)(x+n)

If ¢ is positive then m and n will
have the same sign. The sign or
b will determine the sign.

If ¢ is negative then m and n wil
have different signs.

What you will learn about:
Factoring Trinomials when
The leading coefficient is 1

Factor: x2 + 6x(D8

()(+‘-I) (xn)

Factor: y>+ 8y + 15

(y+5) (\/4-:;.)

Factor: u? + 11u + 24

(wrs) (_U\.-l*’.b

Factor: t*— 11t + 28
(E0(t4)

Factor: z2 + 4%&—5

(2-D(z+s)

Factor: h? + 4h — 12

(h-z}(m—@




byl

xt —-4x—-12

(X=6)(x+2)

Factor:

r2—-3r—-40

(r-8)(r+s)

Factor:

2
2x+x2—48 = X ¥2X-4%

Cx+s)f>c-q

Factor:

) ¥
—n+124+n2 =N —1In FIX

Cn-ﬂ)tn-ﬂ

Factor:

Factor: x* + 12xy + 36y° 3
actor: x xy y i
(x16y) Cncy)
Factor: x? + 12xy + 36y?
sl
Factor: u + 12uv # 28v2 Y~z
Cu } \L‘{u')(l.h'"}v)
/€

Factor: u? — 9uv + 18v?

(u-t)(r-30)
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Factoring trinomials with a GCF

What you will learn about:
Factoring Trinomials when
The leading coefficient is not 1

Factor: 2x% —8x — 42 ® (Xz* Y ¥ - ZD
2 x -’D(X—l—'b)

g0
Factor: 4m? —4m — 8 L’(Y"\ ~-m-2

L (W-Dq)('m-l-l)

Factor: 5k% — 15k — 50 5( AN -io}
5(%-5}(10@)

Factor: 4y2‘— 36y + 56

"1().-7"—‘?71“ i‘t)
9y-7)ly-2)

Factor: 4u® + 16u? — 20u

Yu ( u*+4n-5)
Yu (u +$‘)(m-l)
Factor: 6y° + 18y% — 60y
6}/(‘/ Ly 3y - 10)
('7’(7 +5‘)(.y-z)
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